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Question ID : 9895808211
Chosen Option : 4
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Question ID : 9895808198
Chosen Option : 4
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Question ID : 9895808207
Chosen Option: 2

IO A A B

HYA:

ICL-aH
|. T & WFeadT F9ET X F SeeT AT § T F Tatea A smeem)
Il. T WA F9aT X &7 Woee 39T & T § I3fag 74 R Fwem)

K gEt e | AR 3T e E
X 2 Faer AT || HFHIOT FIAT 2
X 3 ael TESHY | HFETOT HIT B
o T @ fAsEY | AT 1l HTEOT T g

Q4 R v FEt sk et F aeEs 92 st T o @ Fia v T afsE w1 e .=

T AEa F9 X & Seee #Ae & 98 & T I A e BaiEd seea A # U 2

Question ID : 9895808201
Chosen Option : 3
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Question ID : 9895808189
Chosen Option : 4
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Question ID : 9895808199




l Chosen Option : 2
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Question ID : 9895808190
Chosen Option : 3
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Question ID : 9895808192
Chosen Option: 3

®® 3@ FEE T S SRty o ¥ Sefad 8

1, 3,5, 7,9, 11, 13, 15, 17, 20, 21
Ans X1 3
X213
X315
v 4 20

Question ID : 9895808203
Chosen Option : 4
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Question ID : 9895808208
Chosen Option : 4
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Ans X170
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Question ID : 9895808195
Chosen Option: 3
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Question ID : 9895808202
Chosen Option: 2
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Question ID : 9895808193
Chosen Option : 3
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v 2 LOOSCH
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Question ID : 9895808196
Chosen Option : 2
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Question ID : 9895808210
Chosen Option : 4
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[ Question ID : 9895808197




l Chosen Option : 2
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Question ID : 9895808206
Chosen Option : 2
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Question ID : 9895808205
Chosen Option: 1
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l Chosen Option : 3
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Question ID : 9895808209
Chosen Option : 4
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Question ID : 9895808194
Chosen Option : 4
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Question ID : 9895808204
Chosen Option : 2
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Question ID : 9895808191
Chosen Option : 3
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Question ID : 9895808212
Chosen Option : 4
Q.2
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Question ID : 9895808200
Chosen Option : 3
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Question ID : 9895807255
Chosen Option: 3

Q.2 emfer gouerst F o sow ¥ Rv B st 3% w1 s9aer e S € e SRR F R
7 frgw o2 w2

X g =

X 2 anfrfEde e
}(3.@5&'%@

v arERe @ EEE

Question ID : 9895807267
Chosen Option : 4
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Question ID : 9895807268
Chosen Option : 2
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Question ID : 9895807260
Chosen Option : 4
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Question ID : 9895807256
Chosen Option : 4
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Question ID : 9895807273
Chosen Option: 1
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ans 1. 1906
v 2 1905
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Question ID : 9895807277




l Chosen Option: 2
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Question ID : 9895807259
Chosen Option : 1
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Question ID : 9895807254
Chosen Option: 3
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ans X1 2017
X 2 2014
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Question ID : 9895807265
Chosen Option : 2
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Question ID : 9895807270
Chosen Option : 2
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Question ID : 9895807276
Chosen Option: 1
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Question ID : 9895807264
Chosen Option : 2
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Question ID : 9895807272
Chosen Option: 1
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Question ID : 9895807257
Chosen Option : 3
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Question ID : 9895807275
Chosen Option : 1
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Question ID : 9895807262
Chosen Option : 4
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Question ID : 9895807261
Chosen Option : 4
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Question ID : 9895807263
Chosen Option : 4
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Question ID : 9895807253
Chosen Option : 3
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Question ID : 9895807269
Chosen Option : 4

% freg & frw Zur $r TERET & TEE O 2
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Question ID : 9895807274
Chosen Option : 4
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Question ID : 9895807258
Chosen Option : 4
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Question ID : 9895807271
Chosen Option : 4
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Question ID : 9895807266
Chosen Option : 3

Q.5 2r ol o v e & 3AE W U F gR ¥ 12 3e H4fiw gifie T AN 3 3 3wF de & O
1 w1 56% @ gt gEmr a3 ey §7

Ans X 1. 54,42
X 2 58,46
V'3 56,44
X 4 52,40

Question ID : 9895807585
Chosen Option : 3
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Question ID : 9895807581
Chosen Option : 2
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Question ID : 9895807588
Chosen Option : 1
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Question ID : 9895807584
Chosen Option : 2
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Question ID : 9895807586
Chosen Option : 1
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Question ID : 9895807583
Chosen Option: 3
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Question ID : 9895807602
Chosen Option : 1
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< 4 %7100

Question ID : 9895807582
Chosen Option : 2
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Question ID : 9895807590
Chosen Option: 1
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Question ID : 9895807596
Chosen Option : 4
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Question ID : 9895807594
Chosen Option : 2
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Question ID : 9895807578
Chosen Option : 2
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Question ID : 9895807593
Chosen Option : 4
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Question ID : 9895807600
Chosen Option : 1
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l Chosen Option : 2
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Question ID : 9895807579
Chosen Option: 1
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Ans  of 1. 242
X 2%72
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Question ID : 9895807587
Chosen Option: 3
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Ans X 1.%19,764
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Question ID : 9895807592
Chosen Option : 2
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Question ID : 9895807580
Chosen Option: 1
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X 1.20.5 km/h
X 2.19.5 km/h
X 3 215 km/h
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Question ID : 9895807595
Chosen Option : 4
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9T F= # F (2 /) A gt
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X3 43
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Question ID : 9895807598
Chosen Option : 2
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2 5w ¥ R e B

s X 1. %150
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Question ID : 9895807589
Chosen Option : 4
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Question ID : 9895807601
Chosen Option : 2
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V'3 2,500 TEET
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Question ID : 9895807597
Chosen Option: 3

Q7 v grEgse F vE AT gE 1 70% B s F ¥ A o9 R # 39Eer & vF S S9N
5 foram ST ¥ 3 & eEe 1 3 TAAGHS & 8w § Hedd FA gem?

Ans of1.20: 7
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X430:7

Question ID : 9895807599
Chosen Option: 1

Section : English Language

Q1 Select the correctly spelt word.

Ans - X 1. Amandment
& 2. Amendement
# 3. Amindment
v 4 Amendment

Question ID : 9895807927
Chosen Option : 2

Q2 Select the correctly spelt word.

Ans  of 1. Benevolent
/< 2. Benobolent
& 3. Benevolant
/< 4 Banevolant

Question ID : 9895807928
Chosen Option : 4

Q.3




Select the antonym of the given word.

IGNORANCE
Ans X 1. Possession
+ 2. Knowledge

/< 3 Idea
/< 4 lliteracy

Question ID : 9895807922
Chosen Option: 1

Q4 Select the most appropriate word to fill in the blank.

The  chosen for construction of the office is in the heart of the locality.
Ans X 1. cite
v 2 site
/%< 3. sight
X 4 slight

Question ID : 9895807929
Chosen Option : 2

Q.5 From the given options. identify the segment in the sentence which contains the grammatical error.

It is known to all that the company is exceptionally clear about its policies regarding the welfares of the employees.

Ans X 1. It is known to all
/< 2. the company is
« 3. welfares of the employees

/< 4. exceptionally clear about

Question ID : 9895807907
Chosen Option : 4

Q6 Select the synonym of the given word.

ANGUISH
Ans  of 1. Ache

/< 2. Solace

< 3. Peace

/< 4 Security

Question ID : 9895807919
Chosen Option : 1




Q7 Select the antonym of the given word.

DOMINANT

Ans X 1. Fixed
' 2. Submissive
X 3. Slow
/< 4 Gentle

Question ID : 9895807921
Chosen Option: 3

Q.8 Select the most appropriate option to fill in the blank.

Fastfood  much energy to digest, leaving a person unfit after its consumption.
Ans X 1. need
/< 2. needing
« 3 needs
< 4 needed

Question ID : 9895807912
Chosen Option: 3

Q.9 From the given options, identify the segment in the sentence which contains the grammatical error.

Most of the adults do not know how to deal with stress, even though they wants to teach their children about it.

Ans X 1. how to deal with stress
& 2. Most of the adults
' 3. wants to teach their children
/< 4. even though

Question ID : 9895807905
Chosen Option : 3

Q(-)“ Select the most appropriate option to fill in the blank.

For people, the experience of having lived a dream is more than just a feeling.

Ans o 1. many
2 2 much
/< 3. more
< 4 alot

Question ID : 9895807911
Chosen Option : 1

Q.1




Select the word which means the same as the group of words given.

A person emploved to drive a private or hired car.
Ans o 1. Chauffeur

/< 2. Transporter

# 3 Pilot

< 4 Rider

Question ID : 9895807925
Chosen Option : 1

Comprehension:

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 12
Q.1 : i : -
, Select the most appropriate option that will fill in

the blank number 1.
Ans 2 1. outbreak

o 2. epidemic

/< 3. infection

/< 4. contagion

Question ID : 9895807914
Chosen Option : 1

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 13
03-1 Select the most appropriate option that will fill in

the blank number 2.
Ans X 1. quick
/< 2. thrilling
/< 3. exciting
o 4 acute

Question ID : 9895807915
Chosen Option : 1

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 14
@' Select the most appropriate option that will fill in

the blank number 3.
Ans  of 1. serious

/< 2. unimportant

X 3 dull

/< 4 lonely

Question ID : 9895807916
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 15
&1 Select the most appropriate option that will fill in

the blank number 4.

Ans 1. gither
' 2 both

/< 3. neither
< 4 some

Question ID : 9895807917
Chosen Option: 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 16
@1 Select the most appropriate option that will fill in

the blank number 5.
Ans 1. conformed
/< 2. adapted

#< 3. discarded
« 4 adopted

Question ID : 9895807918
Chosen Option: 1

7

A person who compiles dictionaries.
Ans  f 1. Lexicographer

/< 2. Linguist

< 3. Writer

#< 4 Author

Q1 Select the word which means the same as the group of words given.

Question ID : 9895807926
Chosen Option : 1

Q.1




8  Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

substitute it, select No improvement.

Not only the children but also the elders enjoved the finction with equal joy.

Ans o 1. No improvement

/< 2. enjoys the function with equal joy.
/< 3. enjoying the function with equal joy.
/< 4. are enjoy the function with equal joy.

Question ID : 9895807910
Chosen Option: 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

9 substitute it, select No improvement.

Good planning will see some sefting out with an overseas jowrney without any trouble.

Ans X 1. No improvement
« 2. setting out on an overseas journey
/< 3. setting out off an overseas journey

/< 4. setting out of a overseas journey

Question ID : 9895807908
Chosen Option : 3

062 Select the most appropriate word to fill in the blank.

Scientists estimate that there are about 5 trillion of plastic in the ocean now.

Ans  of 1. Pieces
# 2 Blanks
/< 3. quantities
/< 4. Squares

Question ID : 9895807930
Chosen Option : 1

°1'2 Select the option that means the same as the given idiom.

To break the ice
Ans X" 1. To avoid someone

/< 2. To avoid social gatherings

/< 3. To melt ice cubes

« 4 To eliminate shyness

Question ID : 9895807924
Chosen Option : 2




Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
2

It took Mr. Sharma more than six month of research to find out a perfect remedy for the malady.
Ans 1. It took Mr. Sharma

' 2. more than six month

/< 3. to find out

/< 4 remedy for the malady

Question ID : 9895807906
Chosen Option : 2

Q2 B
5 Select the synonym of the given word.

GRUMBEBLE
Ans  of 1. Moan

< 2. Murmur

/< 3. Gossip

/< 4 Whisper

Question ID : 9895807920
Chosen Option : 2

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

4 substitute it, select No improvement.

New opportunities to increase your earnings will comes your way at the right moment.

Ans o 1. your earnings will come your way
/< 2. vour earnings will come on your way
/< 3. vour earnings will came vour way

/< 4 No improvement

Question ID : 9895807909
Chosen Option: 1

Qéz Select the option that means the same as the given idiom.

To scale up
Ans o 1. To increase the size, amount or importance of
/< 2. To go high on spending and exceed one’s limit
/< 3. To measure something in terms of length and breadth

/< 4. To create a good idea and to try it out

Question ID : 9895807923
Chosen Option : 4




J

¥ Ru aTT a # 9g T A A e A IR R

BATex amay & gEe & f Fd Hr AR @
"X A & weh

v 2 AT ATy A

X 3 gHeT

X 4 Fr T =

Question ID : 9895806685
Chosen Option : --

* Roa T F o F R s g H I w

T drsdic @ gl
Ans x_lg_a_

X2 @

X 3 gy

W 4 TR

Question ID : 9895806689
Chosen Option : --

Comprehension:
ol s & Rea et & qfa @amr &
A faT T geaAt & FER HfAT -

HIGHT ST Ig=T IHT (1) & gr g 3k
HIYT §EFR ¥ 9441 &1 oEF AT ¥R g, a9
& ST 99T g S IS HEHT ST Srerar ¥ oar
oy F 3% (2) off srora &1 T FROT ®
o sror et @1 gTfeT TER IR (3) &
e TIfNE Flerer e SA-Serdy srer &

(4) 7T & T &1 Faer TYWOT & ST
& &, (5) & = FE a9 FaT A4 @
HehdT




SubQuestion No : 3
¥ are@ryr & e Rea T (1) & e suge
e BT -
Ans ?{1- ﬁT&:'T
K 2 GIA-a1e
o 3 e

< 4 agATa

Question ID : 9895806694
Chosen Option : --

Comprehension:
fr=faf@a seamr & Reaa wuEr #r 9fd ez &
A fgw 1T gedt & argER HiTw -

HTEHT Fr Tg=TT FHET (1) & gt & 3R
STST TR ¥ §9ar 21 orEe S g gien, 3
g 3T oW g 59 Fie HEHT aer Siear g A
T H IWH (2) ofr sor &1 TET FROT E
for s freres @ arfde TRaT AR (3) &I
e TN Hierer BT S-S s &

(4) FET & Fa &1 Faor FIYWOT & ST
A &, (5) & Ta=m @ sy Shaa w4 @
ol

SubQuestion No : 4
¥ sy # wlaa Nea o (2) F T suge
oTeg gI9T -
Ans xl *
v 2w
< 3 AT

Ko g

Question ID : 9895806695
Chosen Option : --

Comprehension:




Q.5

o g & Rea et & qfa eanr &
A fgw 1T gedt & argER HiTw -

HEHT T Ig=TT FHT (1) & gt & 3R
YT FERR ¥ F44T ¢ orEsF 3% g g, 3
&7 SHeT AT BT S HIs HGHT AT Sierar g ar
T F 355 (2) of Srora &1 T FROT §
for s Rere @1 afies TeeR AR (3) Tl
el ek ielel [dr SATAl-STeTar ST 3R

(4) FET & Heha &1 FHaer HIWUT &7 AT
A& g, (5) % Taew W amwr SfEa A @
Hehdl|

SubQuestion No : 5
e H Hantad ad T (3) F o s9gea
qE I -

e X e

Q.6

X< 2 e
W 3 8
X 4 g?—ﬁ?ﬁtlv‘r

(%

Comprehension:
@ srearer & Rea et i qfa seamr &
A fow 1T 9ot ¥ R AT -

Hiesr fr qgEIT IHH (1) & gr g 3R
ST FFFR & g4 B Oy 3% g g, &
& ST ATNT g S FIT HGHT AT Serar g ar
T H IEH (2) off Sror &1 TET FROT §
o smeT Rt @1 afies TeeR AR (3) Tl
Fael TN Hive T SA-SETdr 99T &7

(4) FEr & Heha g1 FaeT HUWOT & AT
T E, _ (5) % Tamw g smwr Shew A @
HehdTl

SubQuestion No : 6

Question ID : 9895806696
Chosen Option : --




e H Tanlad ad T (4) F v s9gea
e BT -
Ans  of 1. 3ETEIUT
< 2. JHIUT
;(3.3-5";
< 4 eTquT

Question ID : 9895806697
Chosen Option : --

Comprehension:
@ srearer & Rea et i qfa seamr &
A fow 1T 9ot ¥ R AT -

Hiesr fr qgEIT IHH (1) & grr ¢ 3k
ST FFFR & g4 B oy 3% g g, &
& sTFr ST 2T S FS HCHT ST e ¥ oar
oy F 3% (2) of So &1 TET FROT §
o sar vt 1 aTfeT e AR (3) &
Fad Ty Flere R Sf-Srerdy s

(4) & 8 Twa ¥ Faer WIwoT & s
e e, (5) % T #F smwr Shaw wE
HehdTl

SubQuestion No : 7
¥ sy # "o Rea T (5) & forw suged
e g -
Ans X1 e
< 2 gagar
o o 3TTERT
< 4 pHT

Question ID : 9895806698
Chosen Option : --

£ T e ¥ TOTOEET e ST SO #Y

=T
Ans XK1 Shaer
X 2 dsT




X3 e
VAR G

Question ID : 9895806702
Chosen Option : --

Q9 PrafaRm & & 3@ Rwes & 9 &Y S ‘il TeHEr e F 7Y @ w
Al A
"X ST geear

X 2 = ST gHRAT

< 3. oJehdle hidl

v o Ffear ST

Question ID : 9895806704
Chosen Option : --

% RoFa &= &1 s & forT 39gea e #7199 H

FIforery Fiaar ez
Ans xl @!’

X2 &

X3 @y

v 49T

Question ID : 9895806690
Chosen Option : --

Y RT T A & 9 9 A Y S #E TRR
ST, 3egel FonA IR TAAS TH-gEY F e & A g
M 1 B 3tege ForH
X2 THGE &

X 3 9% g I R

X« A fHamEe

Question ID : 9895806683
Chosen Option : --

4 e v ereg @ ReE T

T




Ans X 1. ST
o &
X3 g9e
X 4 Tedr

Question ID : 9895806699
Chosen Option : --

Q; few 1w T 7 Ywiea @ # sfarwfie & F P suges Bwer & 9w w

e T #r 3R Er ® §
Ans X1- Hﬁ

X 2. HTRTA

v 3 e

X 4 oA

Question ID : 9895806688
Chosen Option : --

041 T 1w T F e @ # aforfe s F R s9gea Reer & owma #

# 59 g ¥ T 395%a € |
Ans  of | efEgETE

X 2 ITHRT

X 3 da

Ko 3

Question ID : 9895806686
Chosen Option : --

% Ru T e # REE I

=F

Ans X1- asr
X 2. GeRTer
X 3 gHe
v . RafaT

Question ID : 9895806700
Chosen Option : --

Q.1




e v e & Wwifea @z # sforaia & & Rw sagea Reer &1 997 #:2

39 e F Neg dwe JU g fua

e X g @
X2 g ar
v wef @
Ko gt ar

Question ID : 9895806687
Chosen Option : --

U Ry I AT F AT UE o AT

Sraehr g o=l &
Ans (1.3—13-‘!‘@

X 2 g

=

X 3 Serd
?(4.31'-5'

Question ID : 9895806705
Chosen Option : --

% RF T T F BT v g A
A fore g%
s X =@
X 2 3gfafea
v R
X 4 gEafari@d

Question ID : 9895806706
Chosen Option : --

U RT IT g F TATHEET oS FT =TT FI
FHAT
Ans ?(1_31?,{

v 2 Fer
X 3 I




& 4 T

Question ID : 9895806701
Chosen Option : --

afrar # 3% @ 8
Ans o 1. HTERTT

X 2 g8

X 3 Far

X 4 ardTer

T R I A e F T suged e F TTT

Question ID : 9895806692
Chosen Option : --

Ans X1 gHEEA
X 2 TTEe
o 3 QEIE

X 4 qHaSA

% TEr IS arer oeg W WA FI

Question ID : 9895806708
Chosen Option : --

Ans !‘I. %E&QE‘FH
X2 redwara
X s Erdeard
K4 rEmeaTd

U TEr IS arer oeg W 9O F1

Question ID : 9895806707
Chosen Option : --

e K IR g
X o TS AT

J33=|:3'§E1?-|T

X 4 Hg H g 8 AT

Qéz e & & 37 ey & 999 & S He Toear e F AT O T g




Question ID : 9895806703
Chosen Option : --

% RT 7T T & T8 #497 A9 WY o A TR
FAN 9 T FEE Wi AR 9" T 353 Fal g2
K i e
X 2 TR G
K3 T8 3T Fel 87
o 4 FATL 93 F

Question ID : 9895806684
Chosen Option : --

Qézﬁaﬂma#m#ﬁvaﬂaﬂalﬁwmﬁl

T W T E Cice ke il
Ans «1%

X 2 |y

X3 T

?(4.qi§'

Question ID : 9895806691
Chosen Option : --






